LI5S 710| =7} Ql= eisiA E8X AE, Ele] D, &= Hl & U,
-|E ol°
&5 J‘E““/JHIE ojojx|

RAL 2004 RAL 1021 RAL 3020

4 com s olet sia

RAL 6032 RAL 5017 RAL7035

/

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE &Y. )
olHlA EMXE HEto= Qla B3 SIx|7t H5t
X

2l AFSEILICH = HFE 180° E2IH £ =2 Elo| el {xIZ Sotet
2 /AXIE HEE = UAH oot 2 M &2 &2 Hi7t o] fIx|
0+I "’E;EIN 3 Eo| Hel /X2 Sol2 4EE |fXISHES Fuct
THE:

LIAF &2/ 2 &2 HF 1.0503

. e § _E, 7 §|I-%I-

otad A2l 14310

2 Hb A, Y7tAM =X PA

A &3 otFElE LA e212 2 EE
735t %{2| odot U AN Ast olRElE &
Atdxo=2 Elh-Eli._' °=*-’—|S )

CtFst Azro| 2H =2 HE Z4:
- &2 3|M RAL 7021

rH

- Alad 54 RAL 6032

- dE S LEHA RAL 5017

- 948t 3|A RAL 7035

o|=:

LHE EHMYE IXZE MK, AT &L

T3 e F3 uhE 180° S24M YHELICH
- TEZ LA 22120 20| Soi7ts Xg
Ho| 7oz oA BHKE 2 ZBEY £ UsLICH

MMIAME]:
2ol £ & K0638.
EﬂHngKu%.

www.kipp.com - info@kipp.com 1/3



[ ]
| - =y
LIS 710 =7} = Q1A S/ A EIR] D, &= HI & US,
|_-| E ol
— AA T
=M
©)
L1
I ; \ !
()
| | |
| |
T [
3 L J | Sw1
1 " BEEN|
1= ' | _ l SWw2
\ T \ *
I | 1D5ss
Di|
o
[ |
a H——T1> |
A |
Z= 29
FEHS Et SEElRS AR D D1 D2 L L1 L3 B B1 H SW1 SW2 Fx30° AJF EiZS]
Etd =2
F12 N F22 N
K1677.0705101 D Z3|A RAL 7021 5 M10x1 16 46,7 26,31510,949 6 13 17 1,3 8 14
K1677.0706121 D 43| A RAL 7021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 18 8 15
K1677.0708161 D Z45|A RAL 7021 8 M16x1,5 21,6 72,6 42 26 17,78,110 19 24 23 15 35
K1677.0710201 D 43| M RAL 7021 10 M20x1,5 24,8 823 516302159512 22 30 28 20 60
K1677.07051012 D Fo{HXIRAL2004 5 M10x1 16 46,7 26315109496 13 17 13 8 14
K1677.07061212 D Fo{2#XIRAL2004 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 1,8 8 15
K1677.07081612 D  Fo{QZXIRAL2004 8 M16x1,5 21,6 726 42 26 17,78110 19 24 23 15 35
K1677.07102012 D  Fo{ QK| RAL2004 10 M20x1,5 24,8 82,3 516302159512 22 30 2,8 20 60
K1677.070510116 D Hre 2 RAL 1021 5 M10x1 16 46,7 26,3 1510949 6 13 17 13 8 14
K1677.070612116 D Bre 2 RAL 1021 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 18 8 15
K1677.070816116 D B2 2 RAL 1021 8 M16x1,5 21,6 72,6 42 26 17,78,110 19 24 23 15 35
K1677.071020116 D g2 w2 RAL 1021 10 M20x1,5 24,8 82,3 51,6 30 21,5 9,512 22 30 28 20 60
K1677.070510148 D  AISSWZRAL3020 5 M10x1 16 46,7 26315109496 13 17 1,3 8 14
K1677.070612148 D  AIZSWZ RAL3020 6 M12x1,5 17,4 56,5 31519 13 58 8 14 19 1,8 8 15
K1677.070816148 D  AISSWZRAL3020 8 M16x1,5 21,6 726 42 26 17,78110 19 24 23 15 35
K1677.071020148 D  AISS #WZFRAL3020 10 M20x1,5 24,8 82,3 516302159512 22 30 2,8 20 60
K1677.070510186 D  Al2'd A RAL6032 5 M10x1 16 46,7 2631510949 6 13 17 13 8 14
K1677.070612186 D  Ald= S RAL6032 6 M12x1,5 17,4 565 31519 13 58 8 14 19 18 8 15
K1677.070816186 D  Aldd =2 RAL6032 8 M16x1,5 21,6 72,6 42 26 17,78,110 19 24 23 15 35
K1677.071020186 D  Al1<d =2 RAL6032 10 M20x1,5 24,8 82,3 516302159512 22 30 2,8 20 60
K1677.070510187 D ﬁéa o2 RAL5017 5 M10x1 16 46,7 2631510949 6 13 17 1,3 8 14
K1677.070612187 D S o2 RAL5017 6 M12x1,5 17,4 56,5 31,519 13 58 8 14 19 18 8 15
K1677.070816187 D A.Ji% o2 RAL5017 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 24 23 15 35
K1677.071020187 D  AlZS m2 RAL5017 10 M20x1,5 24,8 82,3 51,6 3021,59512 22 30 28 20 60
K1677.070510188 D 45t 3|MMRAL7035 5 M10x1 16 46,7 2631510949 6 13 17 13 8 14
K1677.070612188 D 48t 3|AMRAL 7035 6 M12x1,5 17,4 565 31519 13 58 8 14 19 1.8 8 15
K1677.070816188 D Qi8t 3|AfRAL 7035 8 M16x1,5 21,6 72,6 42 26 17,7 8110 19 24 23 15 35
K1677.071020188 D Q45 3|A RAL 7035 10 M20x1,5 24,8 82,3 51,6 30 21,56 9512 22 30 28 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



Kinn

LIS 710| =7} Q= el A E8Ix| 28!, EIRI D, &= HH Y AUS,
LHE US
£S5 2%

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



